ACT FSM-03

FIRST YEAR HIGHER SECONDARY MODEL EXAMINATION, AUGUST 2021

Part — III
COMPUTER SCIENCE

Time : 2 Hours

Cool-off Time : 20 Minutes

Maximum : 60 Scores

General Instructions to Candidates

« There is a cool-off time of 20 minutes.

« Use cool-off time to familiarize questions and to plan
your answers.

+ Read Questions carefully before answering.

« Read the instructions carefully.

« Calculations and figures should be shown in answer
sheet itself.

+ Malayalam version of the questions is also provided.

- Give equations wherever necessary.

« Electronic devices except non-programmable
calculators are not allowed in Examination hall.
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PART A

Answer any 5 questions from 1 to 7.

1 2@ 7 UIOE@ISS nBOMB5leRe 5

Each carries 1 score. (5x1=5) GaldB(EBRUBHE)] DOM®Po nf)PIENRD>. 1
mic9@ aflmo. (5x1=5)
1 The first electronic computer was 1  @RREO DLIGESIOMIE HHmMIRSA
@RI .
2 The number system with base 8 is called| 2 &M 8 988 MMIB MgREOO® ag)am
. allglesyomy,
3 Name the datatype that indicates the 3 UIMIMI AWIQEO® Mudaileflesrmm
empty set of data. WIQIOOSIOME Gl MTDLIBs.
4 Which of the following is a user defined| 4 &MloIMAUDIT @I  OalEWILMIOT
name? mlBQlally) Gal@d?
a) Keyword b) Identifier a) sslecualy b) ®agywFlan@ad
c) Escape sequence d) All of these C) a)MiBdq] MIBIdmMS  d) spue@eydo
5 The elements of an array are accessed| 5 &®@) @REOWIeel 20ISE683UB
using 9ale@IUily] access eaIQRM].
6 built in function is used to| 6 &®) GEIWIo @EAUANVIMIQlEOIMB ---mmvmmmmmemmav

terminate a program.

AN6BaUNB OalEIUINHEIIM].




7 In network topology, each node is| 7 OMQAIBHBS  @SIBISHIDI@  6306®@D
directly connected to a hub / switch. GMIWIe @MAIS &® anen [ mulsfleelss)
eniWlo]lal@lesam;.
PART B
Answer any 10 questions from 8 to 27. 8 My @B 27 AUO® a@O@®:]Rllo 10
Each carries 2 scores. (10 x 2 = 20) GalI3(6BRUBH6) DOTMPBo MDTDD:3H>. 2
mics9@ aflmo. (10x2=20)

8 List two most common Al programming| 8 ®@6ng Al GId(IAloU) RIHBSIOS CalO)@YYTRD:.
languages.

9 Arrange the following technologies| 9 allallw ©aE0O  HMIISOIGWBEHMIMVE] 5]
according to different generations of &Ml jo@3m MLIGH-D B> Qllg(e>ud
computers. (First to Fifth Generation). (HAHHAN N, (80M) DIBT @RERUI0 EIDIO

QUO®).
a) Transistor a) (soadmilayd
b) Vacuum tube b) Quodslo sizeNnT
c) Artificial intelligence C) @RAglabdlayi@d snadeileadmy
d) Microprocessor d) ©626B:06)(I10MEYd

10 Conert (11011), to octal and hexadecimal. 10 (11011), &M B&HSTB, OaNSTVIOWMIATD

mmud mlguesnglealss) @Gl ag)e3mIs:.

11 State the commutative laws of Boolean| 11 Boolean algebra @leel Commutative
algebra. M26BRUB (IMI@INNH6H:.

12 Write short note on RAM. 12 RAM e6xms60la] @30la] ag)9iyss.

13 What do you mean by Free and Open 13 (o], 896 GITLIYMY BMVIAAG HAURA
source software? Write two examples. af)(MNOROBI6NE @OB@NAILENRMMD) af)00)? 2

9BIANBEMEBRUB af) VYN

14 Draw any two flowchart symbols and write| 14 ago@alege @6NS Q221083 2llameBBUd QIE]
their purposes. @ROUQYOS DalBQINEBRUD a])9IORD:.

15 Write the characteristics of algorithm. 15  @R@3ENICImOBIONg mualleuoauma:ud

af) 930N Ds.

16 Categorize the following tokens into 16 ©I69OHEHISIOMIGBIHLEMN CSIHLOEMIHOS

operators and punctuators. operator &:u8 @RI punctuator &3 @RI
# < ; % ®®o0 MIGBlENE:.
# < ; %

17 Identify the invalid literals from the| 17 ©36©9O@IMAU@IGE G@RAVIWINIO®

following and write reason for each: ellQOERGUS aBO®EJI0 ? BRAIMIM 69@EIMYo
a)2E3.5 Db)“9" c¢)’hello’ d) 55450 @RMVIWINUIGIMBS  HIEEMUIo af)PIORDs.
a) 2E3.5 b) "9"  ¢) 'hello’ d) 55450

18 Write the symbols for the following C++| 18 @o&¥qjOQIM C++ 6300]BOQMIH-BIOS
operators. 2llaM6EBRUB wg)930NH:.

a) Conditional operator a) B6NElaU6EM@S 6390]BOR®
b)Extraction operator B)ag)SMI(SIHHMB 6300]B0QA
c) Increment operator C) M (B51OB(Y 639¢]80QAD
d) NOT operator d) emag (NOT) &300J80Qad
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Identify and classify tokens in the following

C++ statement.
char str [10] = “Break the chain”;

Define the term variable. Write the syntax

to declare a variable.

Explain any two jump statements.

Write array declaration statements for
the following:

a) To store height of 10 students in
decimal point.

b) To store English capital letters.

Fill in the program segment to enter the
marks of 60 students into an array.

int mark[60], i;
cout<<"Enter the marks”;

for( ; ; )
{

>>mark]i];
}
Distinguish  between get() and
function.

Name any 4 string functions.

Write the characteristics of bus topology.

Name the following.

a) Software that appears to be
useful but causes damage to our computer

when it is installed.
b) Attempt to

website.

put()

acquire valuable
information by posing as the original
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@969o 0@ C++ @ERAOANRI@ BSIE66M]
S UB OIE]5|0IIB-Qe @Po@@lH6RE0
621QRD:.

char str [10] = "Break the chain";

cUAlENIUWB )M alBo MIBAULNBNE. 0]
caucdlenilud Wlgad £2IQRM@IMSS
MIlAROBM ) 93OS,

aBO®see @6NE M ( Jump ) BERROANRIE-UB
Qfluedle:@le6)®:.
IO OISO Bl HOMAUDIHE) @REO
WlB0aH3 BERAOAMRIBUB ) 9IORE.
a) 10 &Sle-816S BIBH6)
BUBJ0UBMEEU(@II@B MuEHlEeMDIA).
b) English Capital letters
mueHleemM@Ia.
60 H35|B-86S DIBHNHUB B33 BRGO
9ale@iUily] input ealgpM@IMEes
MIOYOOISIODIREEM B(alI(UNT0 B
al@lojleenss.

int mark[60], i;

cout<<"Enter the marks”;

for( ; ; )
{

}

>>mark{i];

get()) put) @M a0EZHUMBUB IR

£ .21Q)B>.

a@BOO®IeRe 4 M)Slot) aNoUIUMIGBIOS Gald
) Q3OS

6NIMY @SIBJo8edl@es MVAIGUBUDE:UB

) QIONS>.

@969 ]OQIMUDIEE) Bal@ MTBBH3H

a) OalEIMN(AIBHAN) GDIMIIM Do ag)MIMTB
ME2NOS HMURISOITB DABARIUB 6).21QREMUIUB
SMURSOlOM @E:EIGIRIIGHM@IAIQW BIVIAAY
OQUA.

b) @0ad@n eauminsmQIall @raIm@le]ls]
ailelailslapss ailaieessud
660U |SYOMIMBS (UdRo.



PART C

Answer any 10 questions from 28 to 48.
Each carries 3 scores. (10 x 3 =30)

28 @@ @D 48 UOEWIBS nGOOSB:1R1l0 10
Gal23(6BBUBH6) DOTMP@o MDTBD:3H:. 3
mies:9@ aflo.. (10 x 3 =30)
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Write short note on Abacus.

Following are some facts related to the
evolution of computers:

(Usage of transistors, Introduction to Very
Large Scale Integration Circuit, Construction
of ENIAC)

Categorise these under respective
generations.

Represent - 93 in 2's complement form (Use
8 bit representation)

Construct a logical circuit for

Q = (A.B) + (A+B)

What is an Operating system ? List various
functions of an operating system.

Explain about any three input devices.

What is debugging? Explain different types
of errors that occur in a program.

Explain any three tokens used in C++ with
examples.

What are rules for

identifier?

constructing an

Explain any three types of statements
in C++.
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Abacus 6&m &30la] @30la] ag) 3R,

SMNUISNSBIOS  al@leMIDQRAID]  eNIMWee]s
aflel @@ E:08 Dilojo@mMAI@IEM:

( (coMIgROIB®BIOS Dale@IN0, AU
2193822 MIOS@ DIPEUNUM  TVBBRSOM
9o, ENIAC 608 aildazndsmo ).

SHAUOQ NIMWOS @EIDIODUB @RMINV@] 5]
oM@l 5] ag) 9IRS

-93 e@ 2's complement form @3 represent
621QRS. (8 bit ®ale@ouils])

6303 GO BOT MBHRS MR L6335,

Q = (A.B) + (A+B)

ag)am6 6399]B0GlouY MilaNe ? 639e]G0GlouY
milguodileng ailailw wdeaeesud eilay
6.21QNS:.

a@e@ssleRe @My input device &086063014]
allucleeys:.

aSlenigloty  ag)amoe? B0) GloWIR@d
MorAIESHINIM QAU@NI®  CEOILRSs
OOQRSOB86}014] Qilvodle:dlesds.

C++ @3 9alC@INONRM a@O@EsIRio a3
GSIHOMIB-UB OBINEEM Mo
QB @186 H:.

80 eufWFlao@d  mldedlemmailmss
MQA6BBRUB af)E)TMIODBOQIEN)?

Ct++ 08l a@emslele 3 Moo BAYNOANRIE:UB
Qllvadle-@lee)d:.
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Consider the C++ code.

switch(colour)

case 'R': cout<<"Red”; break;
case ‘G’ : cout<<"Green”; break;
case ‘B’ : cout<<"Blue "; break;
default : cout<<”Invalid”;

}

What will be the output if colour has
values .

(@) G

(b) R

(Y

a) Predict the output of the following
program. (1)
i=5;

while (i<=25)

{

cout<<i<<\t}

i=i+5;

}

b) Rewrite the above code using for loop.

(2)

a. Consider an array declaration
a[5] = {10,20,30,40,50};

a) What will the value of a[1]?
b) What will the value of a[4]?
c) What will the value of a[4] - a[1] ?

(a) Write C++ statement to declare a
character array TEXT of size 10.

(b) Intialize the array TEXT with the letters
of the word “"COMPUTER".
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@MIAIERMM C++EHIW al@lNeMIB6)6:.

switch(colour)

case ‘R’ : cout<<"Red”; break;
case ‘G’ : cout<<"Green”; break;
case ‘B’ : cout<<"Blue "; break;
default : cout<<”Invalid”;

}

®IOY OBISIOIAlesmal colour ay

v

Qllelsud @Ry Mle@lao@d 68MSalg
)OI @le6)0 ?

(@) G
(b) R
(c) Y

a) ®IOYHBISIOIGBlLENM BIdWIAIOHP
673 alS ag)P3ORE>. (1)
i=5;

while (i<=25)

{

cout<<i<<\t;

i=i+5;

}

b) me-gleel g for 100p 9ale@Iuila] @og]
) PYORE.

(2)
a[5] ={10,20,30,40,50}; agm Array
WgBOaHM @6,

a) a[1] eag ailel agamoii@leso ?
b) a[4] &g ailel agyrmo@i@leso ?
c) a[4] - a[1] &g allel agamoil@legoe ?

(a) size 20 @GR BPEESAB @GO UlA
£.21QRM@IME88 C++ GERAOANG )OS,

(b) “COMPUTER" ag)am QU0S6)6R! @ReU©68RUD
TEXT ag)0m @re0@|@d store £)a1Qpmm@Imes
C++ e0MlaH(©ORIBMVHM BANROANG af) 3TN,
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Consider the following C++ program codes .
(@) char str[20];
cin>>str;
cout <<str;
(b) char str[20];
gets(str);
cout <<str;

What will be the output of (a) and (b) if we
input the string “Stay Home". Justify your
answer.

Name the header files for the following built
in functions.

(a) sart()
(b) tolower()
(c) write()

a) Write the syntax for creating a user
defined function in C++.

(1)
b) Write prototype for a function named ’
sum’ that accept two integers and return
their sum. (2)

Write short notes on the following.
a) IP address
b) MAC address
c) Modem

What are the hardware and software
requirements to connect a computer with
internet?

List different ways to share internet access.

(a) Define hacking.
(b) List any two types of hacking.
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MIOYOHENISIO C++ G(ald(No al@lINEMIBEE:.

(a)

char str[20];

cin>>str;

cout <<str;

(b)

char str[20];

gets(str);

cout <<str;
“Stay Home" ag)am mj(Slo), e003a3s @@l
M@BBIITB (a) IOSWYo (b) WOSIe BDSa IS
) IDI@ B30 ? DOm0 MWD DD} H:.

®I696OEISIOmIGleeam  built in function

&8336s header file &:U8 ag)93Oo:.
(a) sqrt()
(b) tolower()
(c) write()

a) C++ @ @@ AWee)an0B0wS aN6r3aud
mldalailesymailmoiueimo@ milagoesmy
) IONDs. (1)
b) @éeng integer alleie:ud Mle-dla] @IS
@S return e1gRMM@IMES 'sum’ ag)om
aN6BBaUENR prototype ag)93mnd:.

(2)

@969 |OIMAUODENRo] 30030
af) KON E.

a) IP @rwaqy

b) MAC @ro(wqy

C) G@IWo
63@©) SMIRSOlOM HARBOHMQAI]
erumWlejlespam@ilay @RHUUYRID
aNIBWOUN:BYe  BTVILY  OQAUROIE:So
aBO®EYJ0 ?
DBBOME BIRID alBEISIMSS QU@

Al@le0B eillqy O21QRe

(a) ano®6)l6er3 MIBUTlE6)S:.

(b) ao@exleRe @6NE andsser Gl@ileud eilqy
62IQRD.



PART D

Answer any 1 question from 49 to 50.

49 03 @B 50 UOEWISS nGOMBs1LI0

9. Muhammed A P, GHSS Peruvallur

(1 x5 =5) 1 @GO DOm0 MBID3H>.
(1 x5=05)
49 a) Explain the methods of representing 49 a) &MIRSA 6RAGIVITE  RGERMVEU(E-S
integers in computer memory. (3) (@MW Eleeym Sldle:ud Qllauclens. (3)
. . b) ageBBOM@IENY @aQISI6a Galo@(F’
b) How ﬂoatlrlwg point numbers are7 PNIOYEOS SMISE daeadlola?
represented in computer memory (2) T P 2)
50 a)What is a loop ? Explain various looping 50 a) ag)amoem eRqf ? C ++ eal allailw egqflovy
statements in C++. (4) eaRReORMPIuB QilIGless:. (4)
b) """""""" is an exit controlled loop. (1) b) _________________ &)} exit controlled loop maﬁ'
(1)
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